< Display Value >

Initialize:
TempValue = Value
DigitCount = 4
DisplayMask = %00111000

Delay 5 ms

Compute next digit:
TempVal/10 -> Quotient, Remainder
TempVal = Quotient
NextDigit = Remainder

DisplayDigit

Shift DisplayMask Left
(fillin a 1 in bit 2)

Decrement DigitCount

No DigitCount

=07

< End Display Value >

Display Value will
display the given double
byte value for 20 ms
(5 ms each digit)

< DisplayDigit >

Look up Display Pattern in Table

Write Display Pattern to PortB

Write DisplayMask to PortD

< End DisplayDigit >




